Professional Application Questions

12.2 The Superannuation Guarantee scheme provides superannuation cover for a wide number of people. Discuss the shortcomings of the scheme with regard to universal coverage.
The shortcomings with regard to the universal overage provided by the superannuation guarantee relates to those people who:

· are paid less than $450 in a calendar month

· are over 70 and still working

· are paid for domestic work or private work of less than 30 hours a week.

There are other groups of employees who are excluded from the requirement to pay the superannuation guarantee. Refer to other texts or the Australian Taxation Office website for a complete list

12.4 Describe the transfer of risk that is occurring over a period of years in both the closure of defined benefit funds and in the drive towards compulsory employer-sponsored superannuation contributions.

With the closure of defined benefit funds, there is the transfer of risk on returns and capital from the employers or government to the employees, through the substitution of accumulated accounts rather than guaranteed retirement benefits as promised through defined funds.

The drive toward compulsory superannuation contributions is also seen as a transfer of risk – from the government’s funding of age pensions to individuals’ taking the investment risks through accumulation-style superannuation accounts.
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12.4 Jeremy is a self-employed architect, aged 34. Last financial year he earned $90 000 from his practice and $10 000 from his work as a tutor at a university. That was the first year Jeremy worked for the university. He was denied his normal tax deduction by contributing $20 000 to his superannuation fund for that financial year.

a) Explain why Jeremy was denied a tax deduction for his $20 000 contribution to superannuation.

b) Explain whether he could claim a tax deduction this year if he earned $105 000 from his practice and $10 000 from the university.

c) Suppose he expects to earn only $90 000 from his practice during the year. What could he do to ensure he was able to claim a tax deduction for the $20 000 contribution?
a) Jeremy was denied a tax deduction for the $20 000 superannuation contribution under the substantially self-employed rules because his employment income was 10% of his total income, not less than 10%

b) Jeremy will be able to clam a tax deduction this year if he earns $105 000 from his practice as the employment income will represent 8.7% of his total income.

c) Jeremy may earn more as a tutor but will need to limit his earnings as a tutor to about $8 999.99 so that his employment income is less than 10% of his income.

Case Study 13 | Structuring finances to gain a pension |

1. Why has Centrelink denied them a part pension? How are their assets assessed?
Their assets exceed the upper limit of $443 500 for home-owners. Their value of the home is not included

2. In principle, how might they reduce their income or wealth to qualify for a part pension?

Purchase assets-test-exempt products and/or give away some cash

3. Assuming they have no wish to give any income or assets away at this stage, suggest ways they might increase their income and receive a part pension.

Put John’s superannuation into an allocated pension; buy a lifetime annuity for Jill with the $200 000 in term deposits.

4. Quantify your ‘best bet’ in question 3 by estimating the annual incomes they could receive from their own assets and the pension.

The allocated pension pays a minimum of $200 000 / 15.7 = $12 739 or $490 per fortnight. (At 8% p.a. return, this pension will pay this amount in perpetuity, as it earns about $16 000 p.a.)

Jill has a life expectancy of 20 years. At 2% return, it will pay $12 231 p.a. or $470 per fortnight. Of this amount, $200 000 / 19.88, or $387 per fortnight is the deductible amount and only $83 per fortnight is assessable.

PV = CF / I (1 – 1 / (1+i)t

t = 20, i = 2%, PV = 200 000

200 000 = CF / 0.02 ( 1 – 1/ 1.0220)

CF = $12,231

Deemed income is $57 400 x 0.025 + $42 600 x 0.04 = $121 per fortnight.

Total assessable income is $490 + 83 + 121 = $694 per fortnight

Pension under the income test: $750 – ((694 – 200) * 0.2) = $651.20 per fortnight

Pension under the assets test: $300 000 – 220 000 = $80 000 excess

Reduction is $80 x 3 = $240

Pension = $750 – 240 = $510 per fortnight. This will be the pension granted

5. By how much per fortnight have you increased their income in the first year?

New income = $510 (pension) + $490 (allocated) + $470 (annuity) + $154 (investments at 4%) = $1624 per fortnight.

Old income was $577. Therefore the increase is $1047 per fortnight.

